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Since there are many different possible curves with different values of p and o, we can
standardize the curve by transforming each score into a z-score ( a measure of how many
standard deviations a value is from the mean).

Stamdard Normal Distributions can be used inevery problem for any data values

Properties of a Standaed N'manal Distribution:
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Example 2:  The GPA at GW Graham Secondary is 2.6, with a standard deviation of 0FT
the top 10% of all students are cligible to attend UBC, what is the minimum GPA
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Example 3: At a high school, the average grade for Science is 66, with a standard deviation of
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Example 4: A manufacturer of cell phones has deterfnined a mean 6 months before a need
of repairs, with a standard deviation of 6 months. What length of time for this
warranty should the manufacturer set so that less than 10% of all cell phones will

need repairs during the warranty period?
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Assignment: Pg, 264 #5-T(ac), 8,9, 11, 13-15, 17, 20
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